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PHẦN 1. ĐẠI SỐ TOÁN  6 
LUYỆN TẬP  3 

Câu 1.Tính : 

1/ 73.125:5 79 

................................................................................................................................................................  

................................................................................................................................................................  

2/ 837.25.3 22 

................................................................................................................................................................  

................................................................................................................................................................  

3/   223 6)2(

................................................................................................................................................................  

4/  201220122013 3:)33(2  

................................................................................................................................................................  

................................................................................................................................................................  

Câu 2. so sánh   S = 201332 2...2221    với  A = 22014 – 1 

................................................................................................................................................................  

................................................................................................................................................................  

................................................................................................................................................................  

Câu 3. Tìm Nx  

1/ 2.x – 49 = 5.32 

..................................................................................  

..................................................................................  

..................................................................................  

2/ 5.x +2.x = 7 

..................................................................................  

..................................................................................  

3/ 17152 x  

..................................................................................  

..................................................................................  

Câu 4.Tính: S = 1 + 2 + 3 + 4 + … + 99 

.................................................................................. 

..................................................................................  

4/ 4273 x  

..................................................................................  

..................................................................................  

..................................................................................  

5/  164 x  

 ..................................................................................  

 ..................................................................................  

6/ 62  xx  

 ..................................................................................  

 ..................................................................................  
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Câu 5. S = 2 + 4+ 6 + 8 + 10 + … + 200 + 202 

............................................................................................................................................................ 

............................................................................................................................................................ 

............................................................................................................................................................ 

Câu 6.Tính )532).(5432( 2242016201520142013   

............................................................................................................................................................ 

............................................................................................................................................................ 
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